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ATTHE END OF THIRD SEMESTER (CBCS PATTERN)
DEGREE EXAMINATIONS
ECONOMICS -1
DEVELOPMENT ECONOMICS
UGPROGRAM (4 YEARS HONORS)
(w.e.f. Admitted Batch 2020-21)

(COMMON FOR B.A.,B.Sc.)
Time : 3 Hours

Maximum Marks: 75
SECTION-A

L Write short answers for any five questions. Each question carries S marks. (5x5=25)
1. Conceptof inclusive growth,

SRV NAREN
2. Economic growth and Economic development.

eagé ase)g NlaTout™ esg@é)ée)g
3.

World Bank and IMF classification of the world countries.
[0S arsoth Sk IMF (B0 B éiéézﬁaa
4. Foreign and Domestic Capital.

QB4 8 éch Soresso

.(')T

Rostow’s stages of Economic growth,

55:33 A RTpodo &Y Bden. |

6. Role of Infrastructure in economic development,
@gsve‘;)ée){gés TPOE Sodrose 5"(55

7. NITIAyog
8 oG rh

8. Industrial Development Bank of India.

5 #6@@;5 egé',)ée)g) 0%
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9, a)

b)

10. @a)

b)

11. a)

b)

12. a)

b)

g\ 332620008

SECTION-B

Answer the following questions. Each question carries 10 marks. (5%10=50)

Explain the measures of Economic Development and bring out their limitations.
©E=NHB Fodrarod 560D T8 JHoDHoH Beod.

(OR/8o) -
What aré the major policies of sustainable development? é

‘cﬁo?guvé)zﬁe)g o) C.’xrﬁ Deeeen HWE? o

a—'g

Explain the obstacles to economic development propounded by Kuznets.

é:aﬁéi) @aﬁ&oi)?\’) @gs@ée)g% &) ool DBB0B08.
(OR/Sw)

What are the major factors of economic growth?

©8¥ '°5e)§3§ [._far;vzé So85ven D& ?

Describe the Solow model of Economic growth.

=85 5B WS $dorze H DBHBoSo&.
(OR/8o°)

Explain Karl Marx’s theory of economic growth.

=5 &b 688 H)B duporrd) HHBoSod.

What are the choice of techniques ? Explain.

&85 HFHo 0B VXEIMD? DHBoSOA.

(OR/Sar)

State the doctrine of balanced growth.

Joey ée)g ?om;ow&)& '§)5°37:635§3‘;‘_$-\,.«v <
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13. ) Explain the concept and objectives of economic planming.

B [SeDE @k e $Bk oFR> B00S8.

(OR/8cr)

b)  Explain the role of state and market in Economic development.

8 IHASk (Pah&t0 Hbako TS FBH DSBoFoh.

IZI-BAszzlzl-Bsszq
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ATTHE END OF THIRD SEMESTER - (CBCS PATTERN) DEGREE EXAMINATIONS
SKILL DEV ELOPMENT COURSES
FINANCIAL MARKETS
(COMMON FOR ALL DEGREE COURSES)
UG PROGRAM (4 YEARS HONORS)

Ow.e.f. Admitted Batch 2020-21)

Time : 2 Hours Maximum Marks: 50
SECTION-A
ogrXo - ©
Answer any Four questions. Each question carrvies 5 marks. (4%5=20)

& ($08 OS° BT Trealh [HHEDH HEFESO (@08,
1.  Financial institutions
DS Jotden
—= Q

Bonds

[ V]

PO

3. Certificate of Deposit
EraeS ‘ég&éeﬁ

4.  Debentures
SBoSH

Mutual Funds

yu

SrgHSS Hok)

6.  Commercial papers
ey 8’363"03

7.  Treasury Bills
[Besb Degen

8. Secondary Market
Be80% Soe0)es

[21-B317] 1) [P.T.O.
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SECTION-B
Ogrlio - @

Answer All questions. Each question carries 10 marks, (3x10=30)

& (808 o)) EHoH Jdrerdo (@rabol.

9. a)
b)
10. a)
b)
11. a)
b)

Write an essay on Financial System and its componens in India.
FEEBI0S DF K5y HBAw WS FrrrLDe V5B,

(OR/Sovr)
Explain various Financial Markets and their institutions,
DI DY BTyt 980D DBB0D, TB KoFeH Beniysiv,

Explain the functions of Capital Markets in India.
FEEBLED farolss o5 @n) Dihed D560,

(OR/8o°)
Explain the Funcitons of SEBI.
SEBI cﬂ:oé& QO DHBoKHHM. .
Explain the types of Money Market instruments.

DL Bsee Lc_ﬁéé SBYES FrTren DHB0H[.
(OR/Sur)

Explain about organized and Unorganised Money Market.

DorBE HBR oK ES:;S?S $3°B)E5 B0 DHBoLHSw.
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v

~

4

Answer all questions. Each (uestion carries 1 mark

\3-[&{6+2U—3-5ﬂ]:?
27 by 26 ¢) 25

L _P+Q”£_7(}
What is the value of “"'P_Q if 0 !

P . P+Q
527 wond g Dend od?
3 7
) - | b) 3 C) 3
h—[h—(a-'r-h)—{b—(/;—{u~h))}+2a]=?
) 2u b 0O ¢c) b
Which of the followmg arc in descending order of their values?
gof FHES 0BG tﬁ?(ﬂo‘és Bind 087
5 7 % 11 58 17 7 85
‘)’r — e b) — Ty Tt C) T 2 0
g 11151 971517 1l 17 11°15°9

(893 786)" ~(893-786) _,
€03 786

a) 2 kf{ 4 ¢c) |

210-B313 (n
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4 The sum of first 45 natural numbers is

Tosd 45 B Doggy wo.

a) 1280 6 2070 c) 1035 d)y 2140 ]
7 LCM of two numbers is 120 and their HCF is 10. What is the product of those two numbers®

Boto Hogge &..id 120 $o8050 $er 10 wond e Tod Sopsw OBo Dod?

a) 1200 W 12 ¢) 130 dy 110

- . o152 4.

& The H.C.E of 357

152 4

g PP 3 o 9

(‘>L\)\ 3:6,9,2705.N.J"Q0é.
VL )
1 1 10 3
——— — — d Y

9. L.C.M.of 6,12,1836is?

6,12,18.36 & E.20.10. Qo&?

a) O by 12 c) I8 d) 36
10. H.C.Fof6,12,18361is7

6,12,1836 o K.3r.57. Joe?

A 6 B 12 ¢) 18 & 36
)4/ Find the value of(] “l)(‘ "l)[] "l) ------ (l ——l—wgbe»é Dos?
: 3 4 5 100 d
1 1 1 1
9 %0 55 .9 3 9 55
VI 47.12,19.28 7
) W~ 38 < 39 a) 40
X5 1,4.9,16257
a) 35 by 49 ¢) 64 & 36

lf.(' What is the angle between two hands of a clock at 7:30 7
7:30 Hobe SLahInd® Didney , DEoey iy SSesn 8T
2300 b) 400 ey 45 dy 500

[21-B313) @
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are (he hands ofa clock at right angle’

5{’39‘6))@6% o.)i./).DnJD?

% Jlow many tmnes in aday
| ety DYHS0eR 0365;6»@ eoed

KECETER Sodt o8 $ &erd® D |
G a) 48 b 44 ¢) 24 d 22
A LK PIC.RSETSL.VI2LY
i a) X170 m  X17M o X160 d  XI7K
N 7 NEAT TARN: DRINK:?
© ) RNIDR b)  KNRID g* KNIRD d) KNDIR.
A y/ o cortain code CAT = 24 and BAT =23, then how will you code BALL?
o b 25 o7 26 & 27
)14/ AB=1:2.B:C=2:3thenA:B:C is?
AB=1:2,1B3:C=2:3 uoao@ A:B: C dos?,
2:1:3 dy 3:2:1

a) 1:3:2 o 1:2:3 )

20, Aand B are brothers, C and D are sisters. A’s son is D's brother. How is B related to C?
AS08c50 B eo D88hen. Cdasn D e 88850emen. Acm)ég’ méﬁ)é) D o’?msé ﬁ%ﬁ&@é ‘
B & (8 Soacio 35)08?

4y Unele b) Father ¢} Grand Father d}""?’ Son

21 26-01-2002 is Moenday, then which day of the week on 26-01-200472
26-01~-2002 FHorEB 26-01-2004 H ooB50HS0b?

a)  Tuesday 1 Friday ¢) Wednesday d)  Sunday
RONETUO oaﬁaa‘ﬂc‘:?o Evuintvlelel 985S0
22, What was the day of the week on 15-8-19477
TEEDE® DB 15-08-1947 ©E00H?
a)  Friday by Monday ¢)  Sunday d}  Tuesday
BT B0 Woamso &P 0 éooﬁ‘zf:ﬁbéo

,). T “ TENT LIS i I 1
% The average of first five multiples of 3 js?
3 S FesB 0t rodere ESTEI AN
a) 2 ‘ ‘
b) ) ¢) 15 =
) F4) )

[21-B313) %
: IP.T.0.



5 W ) to 30.
24, Find the average of all prime numbers between 10

4 A "
10 0 30 st oy [T BoRge O SHTES Q) 20.66
: 9.66 ) :
y 18.66 ) 19
a)  17.66 b) T N S
:\) list covers a distance of 750 m in 3 min 30 sec . What is the speed in knvhr of the
25. cyclist covern i
cyclist? srosn HEp. wdDd Ik

25 &8 PSP 750D, [HSrdothes @s08 2 2, 30 .
8. &o/Kots EBHRPRKED.

\ a) 20 km/hr by 25 km/hr ¢) 10kmhr d)y 18km/hr
L : . P > S OO D
s ;f/ " A car moves at the speed of 30 kmv/hr. What is the speed of the car in meter per second?
. | : " ‘
‘f() 2.4 508 Hotath 30 88° Heoh Jos® %’J&J”E%é , 595 Sifo Soath/FEHE” wo8?
, 2
a) 15 m/sec b) 17 misec ¢) 18 m/sec d) 226 m/sec
27. 28% of 450 + 45% of 280 is /0&?
P 250 b) 252 oy 260 d) 262

28. A bag contains 50 p, 25 p, 10 p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find thcj
number ol 25p coins.
- %008 5 9: 4 AYSE® 50 ibew, 25 Pden, 10 pben wrerce Ao 206 Srdraven
&)9, vowd 25 e Trren Y sazen? ' |
a) 360 by 200 o 160 d  216.

29. Rohit was 4 times as old as his son 8§ years ago. After 8 years, Rohit will be twice as old as
his son. What are their present ages?

8 Yowdyre B0 52rE HuHly) Bl FH Sohing 8 ey, 8 Sodore S

o

88 Kby S $abH BBoy wowd 0 B8 Sabmen dos?
Q) 15,30 by 18,48 ¢) 16,40 dy 19,50

30. One year ago , the ratio of Gaurav’'s and Sachin’s age was 6 : 7 respectively. Four years
hence, this ratio would become 7 : 8. How old is Sachin?

1 Qo o W63, $DJe H6vx) 6:7 I $oZD. 4 Bon Edomrd b By 7: 8
VYT oD, VIPD JOJ Sabidoy Dod? r

- a) 16 years b) 26 years ¢)  30years d) 36 years.
31, A mansold an article for 96 rupees, when he gains 20%. Find his cost price?

zé;gé %8 BRI 96 Errdhe eys 20% wvio $D06, wond © $KD %) Bo
Qe ¢

4
A 70 by &0 c) 90 d) 100
[21-B313] @)



}t/,\, B oand C stinted a busisess iy esting Ry 20,000, Rs 38 000 and Rs. 40,000 respectively
out of fotad proGit of Re. 3800 What was *C? share in the profit?

AR Sbae CBLh o8 amdcod S 20,000, &> 35,000 Sobun e 40,000
A Dtpel T 23 08 G 3, K00 oo SHed o e do¥?

& oo hy 1400 ¢} RO )y 1S

i
-

At whattome botween § and 6 O chocd sal) the hamdy of a chock be together?
b Sl 6 Mot DLy Wby DA Y 2ALDON Hidbo Dod?

1 1
e ;mﬂ‘i oun et 3 Y] .Z"»' min past §
3 3
5 Hom mil o b Mon nl-i et
A 1
) ."‘“ mm paa $ d 7 1) TN payt p)
H Fsom :sl i H Som 27~}~ D
1 1
2 1
4 M-;'.. of 1K, i""“t'r ol 1% - ?
a0 M N ¢y 40 & 30

35 An anspoctor tojects § 089 of the machines as defective. How many machines will be
canmie o reect 27

8 890 et U 08% e ¢'oo Bolm DorEOY, 2 dhoprah DoEloSLrRS
Shl & dhopr H0b0NL?

A 2000 by 2500 ¢y 3000 d 1500

A6 A vendor hought banana at 6 for Re. 10 and sold them at 4 for Rs. 6 Find his gain or loss
peteent

L8 T30 o0 B sbofL 10 Gedrdus: B,  trdrabod 4 Jopd el
8 el :i;;:m oot &Y

a) 107 doss (o) AN 1% profitiegio)
o 18 lossigo) ¢ 15% profiy(e=gio)

{21-B111) (%) rT.0.
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38.

39.

40.

L

' i vatch be
A person incurs 5% loss by selling a watch for Rs. 1140. At what price should the wa

sold to earn 5 % profit? g
&r. 1140 $ 8.8 K0T esinio H© w828 5% JFo Sinob. KB SRR ey H%
erdfo KB0SIBE0S, AR D08 wXYSBL EHEYA?
1200 by 1220 c) 1240

VA

3 d) 1260
.

If the cost price is 96% of the selling price, then what is the profit percent?
oS IJoé® 96% FHROvmSHID ergEso Jos?

e 25 25 25, .25
A % b T% c) % =%

2
Find the simple interest on Rs. 68,000 at 16-3- % per annum for 9 months

2 5 " 5
68,000 brirabets 165% Sosdio08 £& wond 9 oo Fobe 542 558408,

a)  Rs. 8000 b)  Rs. 8500 ¢) Rs. 9000 d}y  Rs. 9500

The difference between the compound interest and simple interest on a certain sum at 10%

per annum for 2 years is Rs. 63 1. Find the sum.

§708 @dendy 10% Sos)oons Bens® 2 Hon ey SESE , B8 5 Fessw . 631

HONd Ol JoE? )

a) Rs. 63,100 b)  Rs, 62,100 c) 60,100 d)  Rs. 60.000

A.  The circle graph drawn here shows the spendings of a country on varions sports during
a particular year. Study the graph carefy ully and answer the questions ’givén below it.
&8 SoHHTENS” &8 BHins® DS st Hcirek BoB HBws® kwass.
& [P 208000, BoB XAS (5o emDln |

[21-B313] (.6)
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A the total amount speni o

121-B313] 7

How unweh percent ot the total spending 1 spenton fennis” \

vt ittt TIONE Dy rddw 0
DOV ‘"U‘v\ﬂwﬁ)\{" e’«z‘?;ra) ¢ G0 4T

. y
of 2+ b 25 ¢ 2= d)as

JTow much pereent more Is spenton hockey than that on golf?

#63 Haho THIOGY TE 087

Ar Sabo B3,
3, 2% by  25% c) 37.5% d 5%
Iow much pereent less is spent on foot ball then that of cricket?
lé's'é S Hrohdw ETy) Syeherd D S50 srhdo Fo%HN wod?

1 I I
a) 27 % b  333% ) 375% d 25%

Il the total amounl spent on sports during the year Rs. 2 crores . The amount spent on

cricket and hockey together was?

St . 2 Bt wand (36 Hoan HFhe B Lubdne

re)

‘éosﬁéf;)é Base:éa’més @e

- s NS
5303250 INIEION

a)  Rs. X.09.000 by  Rs. R0.00.000

& Rs. 1.20.00,000 d)  Rs. 1.60.00,000

n sports during the year be Rs. 1.80,00,000 the amount spent on

hasket ball exceeds that on tennis by.

o L AL T2y 4 K 5O g mes : v =

BoBEy FpEsns® soop Inddn Hubn L. 1,80,00,000 wond SV Fabo
e et A oy =, ,. N ~ .z -

Sy e erd D Suho Jod QBRI

g Rs. 2.30000 b)  Rs.3,60,000 ¢ Rs. 3.75.000 d)  Rs.4.10.000

[P.T.O.
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40.

47.

48.

49,

o

ble gives the percentage of marks obtained by seven students in six
he brackets give the maximum

A. The followingta .
The numbers in

different subjects inan examination.
marks in each subjects.

o83y (8 3
e85 $B%S° 6 DAY $PGes® 71O Dergoen FHOD srdpe srd (Bot HBES®

s, [@8RS° P8 RPHE® KBE Dty

Subject (Max. Marks)
Maths Chernistry Physics CGieography History Computer Science
StCed] (150) (130 (120 (100 (6O (40
AYUsh %0 S0 90 o 70 R0
Aman 100 S0 0 a0 R0 70
Sainl 90 a0 70 70 00 70
Ko 80 0s 80 ) 60 60
Muskan &0 6S {5 95 50 90
Tni w0 75 65 85 30 60
Tarun 0 28 50 77 Q0 80

What was the aggregate of marks obtained by sajal in all the six subjects?

B o 6STHed® L0H oI DYS Sriyes VIHAO $8h087

a) 400 by 425 c) 449 dy 439

What is the over all percentage of Tarun?
S5 HOYS Srdiyes Do, et b wE BHEE?

a)  30% b) 40% c)  S0% d)  60%

What are the average marks obtained by all the seven students in physics?
T8 rm@oé‘s 7 B g)ml’egdwwé) BHINDS Qdrfen Sednen InTol ¥4

a) 80.14 by K89.14 ¢) 90.14 d)  100.14

The number of student who obtained 60% and above marks in all the subjects.

28 ég%wﬁ‘ 60% S wos Mo srbnen SN 0 Joy éa’ng‘;&o&?
a) 2 by 3 ¢) 4 d 5

(m.’ In which subject is the over all percentage the best?

[21-B313] (8)

Ando D St TSI O BTHSE” JS ertbob?
A Maths b) Chemistry

¢) History d) Computer science.




